
T{INDI
(Maximwm Marks : 100)

{Tinae allowetl : Three hours)
(C*ndidates are allowed additional 15 minutes for onty reading the paper

They must NOT start writing during this time.)

Answer qaestians In 2 and 3 in Section A and four other questions from Sectton B
on st least tlree o7 rhe prescribed textbool<s.

The intended ntarks for qwestions ar ports af questions are given in brackets I J.

SECTION A

LANGUAGE - 50 Marks

Question I

Write a composition in approxinnately 400 words in Hindi on any ONE of the
topics given below :-*
ftffi q+, Eurq w fre"sT frfHq fr aoo er-ql t sir r e) :-_
(i) ?B-fiq,1 fr-sTfi t qmq +1 ghwsil 6r e-fl q"{r frqT a, .- EH frrrq qr 3mi fr-ER

q-ffi +tRq r

(ii) Hq]n gq fr ant qat + frq ffi dt ir4qqzF-f,r B r B" qft?lT 41, - qs Bsrq
fr qe{ qr ftqm t Brqt kfll ftfuq r

(iii) gwfr Ed ffifr ft-a, gr frr qlTHm EiiT rf,d wrfr sqq +t qRT eir q-66 q-.f,ft

B - t-tt ftu gm-+' BEq rr-r' effii faqrq srotr etftq i

(iv) 'ft-r;n-r BTqrff qr$ fr RftErfr 6T'd i' Hsilflr Mi F r, __ Ea- sun fti q.ri
fi-d-{ + fufr ffi a1,rs 6T-iT Effirq-+6 ftfuq r

(v) 'vaftrwr S qrurq t qrfi-fl-qTfus"i t qgq ft-{dT afl-r q'q.rraT ft-r qq qrrrflr

i r' *- Ee" frqq q-t erq-i ft-qTT Bffir{yfs- frftqq r

qvil ffiR+r t t ffi qs. fuiq qr dfr6 sHfr frfrq ,_
(a) 'drq qil qtE {&, r

(bi qs W frtfr-+ serfr ftitq frq-mT eiftq n+q E1 :

.. 3ft-{ {'s ffiF ts'di gfr qTs m ftqr r

t20l
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Question 2

Read the passage given below carefully and answer in Hindi the questions that

follow, using your own rvords :-
Frraf.Tfuf, fr sffir, q-.n fr ftq Tlq w-fr + gfi sTqt sr-'fr fr frfuq :-

1-6 ar"Tr qir <(qrt e-rrr gsT 2Tr r sffifr + kt *, Eqfdq {tuTT 4T (cqr{ g"il t*to
tr{ o.lm qr I Tft Bn-q TII{T ge-o +t qy i il& fr I TTEKI"I a Rf-6Iq-{ fr ffiq-A \1+.

i-q so-+i rtfi ff i rrqr * cfuqTT fr q*ft vqrq, qBf, q.q, +srq wfr q!fr qrqrt fr
tts +r

sfr q"qq' q+' asR-fl anrn eilt tr=$r t Eq-qI{ fr ft-f,i fr err*r qirft | saTr fuf,

rrw, fr ss.i +El, 'tt qrs A sFgt A, fr*tm qfi +ft frfsq qr E6ff B 311{ q{
ercft r fi e-r rr'q * rtqi + snr qrf,r q 3fiT s€ q-{isrt HT 3Ttrr6 s-{f,l i, tfra
dt qtrq qfi qril, E.s ER' qIA B fi-i fi ft'$"dl qq"F-{ Tq rd'r (, * enc+ qrR

t qmi {r"
Tr"TT i st rttt't aqfr +1 fuT mqt qr 3nt{r R{r, fr sst ;,*1 aqt tq r{

Tq fr r ftero Hq-Ft 3TrrFR, (Irtr;l 6q-tr[, (rffiI H"FTSI, Hg t-o ,ro*frrcq sIT]-{ | {I'TI

i q;fl, 't Afr qqq qq; 8", fr sg eqkt t +-dt', "Ei M n) qs ft ?-fr A

tfrq B f\"r r q-{ft fr qo B e-ga +ffi #rr 3rt-{ ql-6 ? mtq +-r gsql, ffia 6{
{ir qq q+ A r +t{ 3Trq Erfi qro l-fr cr{Tr ft +1q vr *{r A srh +tc' vr qt-q 

r

+1d .nrq ffi qflq B- t &tr B qr +f-q I wrr cr€ r+t fts-ft, dr fi an qr*tT

stl-( q-6 +tq-fr A-{r fi q-6q$ rrcq +t ffi-fr q qsrT qrfl (rrr, qk fi{ { TEqFI q-ql

fr Sq fit ftt di +lqa A sa-+r q-flrftT 3ilcsi,' g, ?ff dr,fr r Eft y-+n fi +-t rro*
t fitrdT sil-+t ( t"

rqr t ry{ ert sq q}r} a-q$ +) Tft-r t k{qr{ c-{e-a qt +lRrvr +t efl-( sin"

fr an qrqil gq ?F-6T - 'q tr qfr qrc{: H{qt t''
fr-{rq qtft - "e"q fr Baqd q€i ${ q6A, Tfrfu A+i fr"Ef, Hqr{ A t"
q-q 6it, qn{ e+qo *ft go qTq-r t ERi qi tt tt Bt, qffiT E fr +1 +1{ qnld

q-ft eTr Effft' rrqr fr qTs qgfr qn en afuT rrqr +t sfrET FR qTt,ft, Eq-+T (-q-+1

qq 2{T I

+1{ Eqk qf,s6 q-& qrqT r enR+c+rc $-e ,ir.S Ef,=rf, g{ 
' 
q* $qr er(fi aq

i' flr& i.+;E sor r sqt 6-sJ, "gfr q6rtm * n,q A .qm), fi? vs eTt gfl A 3ftt
q-o 

'{f grr fr +t{ q-ro c-ff cr ra B I qs' qzftrq gfr lft fr t" g{ stT(lfr + q-6It

{6 rufl * qrfl .rivr, sqi {-Er t e"rrfTr qt 'q fr woq t qm i ft,t fr gA q{
qcmn ft-qr qq Fr$fr fi fi qfi oir slq-ft gk +1 crq 3fu{ fr q-sf,i B fr ry-*
',ft fr qr$ 3ftr qR qq.f, n +ft gstt, f,] +fr fi 31lc fr ETt fr E t"

-;- 
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rr_qr ft1 nrn fr qt er+m ?A t +t{ E-d Tfi ? 3Tt( rMr i sfr rgufr t fi r

w eT* 3rTEfr fr arq t frql qqt t ft rrfr er1-r 5or rrqr fr' Eqt 6h vr frn
A 3rt( +1c Hr 6iq ?

sq Brreff i w ft-re fr w ftn fr rra fi-rT B *r rra +tqr fr.qk {di
{-'q} dt fi-f,+-{ Bnq[ qT, qE; r-f,Tws' fr rt,qi sfrt frfTr, 'ffi B, 3nqi Tf,qr+ ft-qt,

Brlrr rFrr A ! 3r.ri 444 fr 5elrRfi zra frn fi Bilqfi trsq +t ffift fr t ra ir"
vq sgil gvt fr Tt fr( fr eqRf, BTTqr eil ca *ft qgil re?T g3n fr +-q t mq +t{
fi ft-f,T qvft fi-( r-+-ft +1 .rtr-{i qrff I {r"TT qt{ sq urft dH i Tfl
$* EqRf, fr qfi ff fr-aiqT qf,r{ fu, '!qA qa *il qaqnT fu q-o ftrT A efu ca
61q /"

yq 3ri i +-a'ffifi ff s,d B rNT{, W t aq uq it A, ti frfr fi genr
\f,) dsr lrr 4a fril, fr rrcq fr r-q1 q6 siq 1

q& qrf, Eqrt frq_{ fr ft .nt +ft B, q} Eqhd qrd-qrd fr Brq-{r snqr rfr tn
B, rcq dr qror B .fl-{ dfi t dta Hq-srfr fr sers qrar B qE siE iqT a 3rl-(

q\ ffid qftRqM t fi ggE raar B qt( gfd fr +lq fr-dT a aft wqr d-u B r

YFt :-
(i) {t"n 6-r q-{ET( sEi 3ttr efr mqT en ? cd +1r-+1a sqRq-a qr ? msft qei +1q,

EqT A-fi 3ilqr ?

(iD sq Eqkd i c-q +qetr +1 Eqr msrf,T qm{ oqr trqr * mrrt +qr prd Tfi ?

Gii) ft}-{ sft s{ +qsir +} .r€:EH Eql' nfr u+r ? E€ fr-H qrf, s-r sr ?Tr ?

(iv) uxT fr sa rqetr ftt Tf,qTn fr,Tt qq fuq u-+n +t ? uq mH' +t {fl .rr Ern
yftfrqT ft ?

(v) qs m-sr{t t Eil +qr ftTail ffi a ?

l4l

I4I

Question 3

(a) Correct the following sentences and rewrite :-
ffifta ilEti +1 ga mrfr ftftqq ,-
(i) tt +1 3TturB6r A ?ffq gilur B I

(ii) gq 3i-fiRur ffiq t sr G fr r

(iii) Hd: srqnr t fift efl-.r;E qlft ? r

(iv) Eqrcf, + ftt qrt +t errfl B r

(v) T+ crft sl qrf, rrd fra sTEq r

t4t

141

t4t
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meaning:-

Fr+-rftR+o Wlqti Fr sTaf rqsa fli + frq E+ qr-+ir fr ugm dfqq :-
(i) m.ti +-r gEFgr I

(ii) ta fr crft rfl=n t

(ii| tSt 3i--frt=tT I

(iv) errt-{Ft fr+r t

(v) Elq qf,;iT I

PRESCRIBED TEXTBOOKS - 50 Marks

Answer four questions from this Section on at least three of the prescribed

textboolcs.

Tl-€t {tfi.trd (Gadya Sanklan)

Question 4

'ti,3tRAITftAffiBl$-{fr3TrEft(Tq311}Arrrdn-+3TIAfrQ6itsdrr}qt
ttqdT t fu S fr-dT +t 5Rfl fr ct 'r{r ffi *{ ? fr Eqfrqt"

(i) ov{m msr-d fr-ff qr6 t fuqr '{qr ? ? qs 6'q{ sT q-{dT +1c B ? qa mq-q

fuu wrq q-< F-6t qr 16r e ?

(ii) +rdT gt{t qE s'tr=I fr-s c<*f t E-a rrrfl Pil ?

(iii) 'qq fi.{ A ff ftqftq 1' - q"mt tur qm +-aor ? ?

(iv) a'ffiT fr ffiu fr ,if,T +1 qqr-eqr cil q?rfl ? ? ss+r qiTra *f,r q{ Eqt qsTI

B ? er.n-o, *tt EqT Frriq &-dT A ?

Question 5

fl-sq Fr cR-qq ?t gt qdr{q fr'c-{-+ qkflr t +1q-+1q efi ? Td B( qR fr em-+r

fiq-{ 3pfi ilf, 6qfi-d 6-{ Tfi ?ff ? st q€-+-I 3{Tsfls fril gqr ? t+e +1ftq t

Question 6

'e{Ftrq sT frq-{ {out qq #--dT sr fi{< sfff,{q A' - 3q-+ fi-fi * Ap-q 3Tut-Fii

q'r rrf{ +ril gq qfl trfi +t 5tri +lkq r

tsl
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tfi.faf {.qft (Kavya Manjari)
Question 7

frrg Eq q6il Tff t r

+itB ce-+r tc. fr-n ? r

Eq qet, n) €n fr rS i

t{ v<qHi, R.fi frfl, a?i, (Bt qd qr(},
3f( et Eq Wf *-+a ff mrft *n qR et Fst ?

(i) +{ q-dil Tfr B ? +Bmr fr eqq t conq I

(ii) 'sfiT td Ar+r, fril t ?

(iii) Ef,qr' ehcn sT qqr exnq y.$dT B ? HE-ilr * {-o*f t eqflr{q r

(iv) ug-o sE.-dT +i vrcrft-s e-fif wrTr +1frq r

Question 8

'ffi ryn$1 t Eqrdq * qErisTdT ffi m1 +6-r fr-fi ftqT B t,, sEfr q6hdT hTftTh1 fr-.) tqr t, fr enwr qt qrqr dfeq I

Question 9

Question l0
kFn BTrfirsf (Saara Akash)

Itz%l

112%l

u%t

t3l

13I

tsl

l2%l

3rqa 4fiTil *{ a-ElT ETtn fi frETqei E{t-sril sa-fr 6} .r( rr+mr ,l-dq sTt( rqB-d Fu.
1 T", '9'!fl- gq gat nv-q fr....?" vrq fi g+ srTrqd * ra qr fr.qo atr tt smt drf, rsr Br

(i) erir +t{ Pft ft +a ffi il-qm ?ft ?

(ii) 
flT$ nr+.fi Hr ilq fuot gU {6 Hs-c dtrrq fu w-fr BniqffiqlT:Fr q. .r qRuffi
t-tchfii (

(iii) qft i Btq.i qEil eqrq sT qfu{q B_s q_{.R frqT ?

(iv) nh +r 3rq+ vet gu q{6r-{ .n for 3rsrq Fr 3t{ EHt e* HE *-r t r
Question ll

'knr etrorsr" Bq;q* fr qFic sg* qfuqT{ qt eq*rfr + .,t fi frrftq qr{ maq *ffi +1 rq"e qifrq 
I

Question 12

'k*r sn6rsr" B,To.rT([ q H*. +t E]fi qq-s'rffq qRfl{ +t ,rTfufr mr yfrfrB.q srff
B r' Es mq-q +) ?qm fr -.+il gv qTs +t *fth{ frm*drcil +r sur{ dfr-; 

' '| \\'| 
rr2%l
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Question L3

srcd qEati fr s-fiT Ersfr q-{K +-{ {6t ?, e-<rf qPf, ftltq r

'6q[u yrfr{ +]q-fl B, a} erfi gil' ? Eq +.s] '{6 q-f,t E t' s-+il dRl tq-t 6..6E

ffT [fr"rn cqse Etfrq r

(iii) q+. qrrt }Tsl fr q-+TI A, fr ftRql +r +tq-m tqel vr"r ? dt Tf,dT B t' 'qRn

FT 3rqEr (q6-d +tBq r

(iv) 'ensna q;-i qfi ft;1' ryro fr rrrsn-*fr +t frilEdr( qf,l-{q I

Question l4
'ftfrq sl qR" q)'f,{ tt+li. +t qr 3qcq' {r.6tq qRz-B-Bc e'

Lt%l

t3l

tsl
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';fiqT6 E.f !s^ k{ (Aashad Ka Ek Din)
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